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Shift Finding

• Given a code vector  ௡

• Signal vector  ࣎

– ܋ ࣎ is the code shifted by ࣎ ௜܋  ,
࣎ ൌ ௡	୫୭ୢ	௜ାఛ܋

– ܏ is Gaussian noise vector with variance σଶ

– Noise can also be Boolean ܠ ൌ ܋ ࣎ ⊙ ܊
(bit flips: ܊௜ ൌ െ1 with probability ߟ < 1/2) 

• Estimate 

௧
ሺ௧ሻ
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Shift Finding

GPS 
Synchronization

Motion Estimation
(video encoding)

String/ Pattern 
Matching
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Shift

GPS Example

Correlation

CDMA code 

Compute 
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Shift Finding using FFT

Compute  in frequency domain 
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Convolution in time  Multiplication in frequency.



Previous Work
• Lower Bound Ω ݊ [BEK+03], [AN10]

• Linear Time Algorithm: ܱ ݊ [HAKI12]
– Assuming the noise is Gaussian and bounded by ܱሺ݊/ logଶ ݊ሻ

• Approximate pattern matching algorithms:
– Code ܋ of length ݉ and signal ܠ of length ݊ ≫ ݉
– Find shift ߬ that minimizes distance between ܋ and ܠ	ሾ߬ ∶ ߬ ൅ ݉ െ1] 
– Known Results:

• Use FFT and have run times: Ω ݊ log ݊ [FP74] 
• Improves over FFT small number of mismatched coordinates  ݇: 
ܱ ݊	 ݇ log ݇ [ALP04]

• Sub‐linear in ݊ for large ݉ : ܱ ݊/݉	݇ log ݊ [CM94]
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Our Results
• First sub‐linear time algorithms for the shift finding problem.
• Assumptions:

– The code c is random (܋௜ 	ൌ ൅1 with prob. 1/2)
– Noise is Gaussian with variance ܱሺ1ሻ
– Noise is Boolean with flip probability ൏ 	1/2

• Results:
– Simple algorithm that recovers the correct shift with large constant  

probability in ܱ ݊ log ݊ ଶ/ଷ

– Faster algorithm with running time to ܱ ݊଴.଺ସଵ

• Uses fast matrix multiplication

– Generalize the algorithms to pattern matching
• Sub‐linear time : ܱሺ݊/݉଴.ଷହଽሻ
• Do not require the number of mismatched coordinates ݇ to be small 
(i.e.  ݇ ൌ 	ܱሺ݉ሻ	)
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Intuition: Folding

܋ ∗ ܠ

ܱሺ݊/݌ log ሻ݌/݊

݌ partitions ݌/݊

Folded:

߬	mod	݊/݌

൅	ࡻሺ࢔ሻ
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Sub‐linear Time Shift Finding Algorithms

At high level, both algorithms have 2 steps:

1. Estimate the shift 

2. Out of  shifts that satisfy  , find 

Rest of the talk:

• Simple Algorithm with run time ܱ ݊ log ݊ ଶ/ଷ

• Faster Algorithm with run time  ଴.଺ସଵ
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Step 1: Estimate the shift 

଴ஸ௧ழ௡/௣
ሺ௧ሻ

• Goal: for 0 ൑ ݐ ൏ :estimate	݌/݊

݀௧ ൌ	܋ሺ݌ሻሺܜሻ⋅ ܠ ݌ ൌ 								 cሺ݌ሻ࢏
ሺ࢚ሻ ⋅ x ݌ ௜

 pni /0
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Step 1: Estimate the shift 

݌/݊ log ݊

• Compute the first  ݌/݊ log ݊ samples of ܠ ݌
• Compute  ݊/ሺ݌ log ݊ሻ equally spaced segments of  ሻ݌ሺ܋

each of length ܱ log ݊

log ݊ log ݊ log ݊ log ݊

݌/݊ log ݊

݀௧ ൌ෍c ݌ ௜
௧ ⋅ x ݌ ௜
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Step 1: Estimate the shift 

• For any shift ݐ ሻሺ௧ሻ݌ሺ܋	,	 and ܠ ݌ have ܱሺlog ݊ሻ common terms
• Approximate ݀௧ using ܱሺlog ݊ሻ terms of the summation

• Estimate: ߬	mod	݊/݌ ൌ argmax
଴ஸ௧ழ௡/௣

	݀௧

݀௧ ൌ෍c ݌ ௜
௧ ⋅ x ݌ ௜
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݌/݊ log ݊

log ݊ log ݊ log ݊ log ݊

݌/݊ log ݊



Step 2: Out of  shifts satisfying , find 

• We know: 
଴ஸ௧ழ௡

ሺ௧ሻ

• Only  shifts are equal to 

• Enumerate  shifts: 
௧ୀఛ	୫୭ୢ	௡/௣

ሺ௧ሻ

• Approximate distance using  samples:

௧ୀఛ	୫୭ୢ	௡/௣
௜
ሺ௧ሻ

௜
 ni log0
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Runtime of Simple Algorithm

• Step 1: Estimate ߬	mod	݊/݌
– Compute  ݌/݊ log ݊ samples of ܋ ݌ and ܠ ݌  ܱ ݌ ݌/݊ log ݊

– For 0 ൑ ݐ ൏ compute ݀௧ ,݌/݊ using ܱሺlog ݊ሻ samples  ܱ ݌/݊ log ݊

• Step 2: Enumerate ݌ shifts   ܱ ݌ log ݊

Total Runtime : ܱ ݌ ݌/݊ log ݊ ൅ ݌/݊ log ݊

ൌ ܱ ݊ log ݊ ଶ/ଷ for ݌ ൌ ݊ log ݊ ଵ/ଷ
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Faster Algorithm 

• Step 1: Estimate 
– Use the closest  pair algorithm which follows from Valiant 
[Val12]:

Given ݊ independent random vectors  േ1 ௗ, except for at most 
one pair that is ߩ‐correlated,  we can find this pair in ݀݊௙ߩைሺଵሻ
time where ݂ ൑ 1.779		

• Step 2: Enumerate  shifts  
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Faster Algorithm 

݌/݊ ൅ log ݊

log ݊

݌/݊

log ݊ log ݊ log ݊
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Faster Algorithm 

݌/݊ ൅ log ݊

log ݊

݌/݊

log ݊ log ݊ log ݊
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Faster Algorithm 
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• vectors from  ୪୭୥ ௡

• Find the two most correlated vectors



Runtime of Faster Algorithm

• Step 1: Estimate ߬	mod	݊/݌
– Compute  ݌/݊ log ݊ samples of ܋ ݌ and ܠ ݌  ܱ ݌ log ݊ ݌/݊

– Run the algorithm form [VAL12] log ݊ times  ܱ ݌/݊
௙
logைሺଵሻ ݊

• Step 2: Enumerate ݌ shifts   ܱ ݌ log ݊

Total Runtime for ݌ ൌ ݊ሺ௙ିଵሻ/ሺ௙ାଵሻ:   ܱ ݊௙/ሺ௙ାଵሻ logைሺଵሻ ݊

for [VAL12], ݂ ൌ 1.779 : ܱ ݊଴.଺ସଵ

If                  , ݂ ൌ 1 ൅ ߳ : ܱ ݊ሺଵାை ఢ ሻ/ଶ  Matches lower bound 
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Conclusion

• First sub‐linear time algorithms for shift finding 
problem  

• Simple algorithm with runtime in  ଶ/ଷ

• Faster algorithm with runtime to  ଴.଺ସଵ

• Generalize to pattern matching with runtime 
଴.ଷହଽ

• To achieve lower bound of  , it suffices to have 
a closest pair algorithm that is linear in number of 
vectors.
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